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QUESTION 1

What command can be used to get the following output? 

A. fw ctl kdebug 

B. fw monitor e "accept;" 

C. fwaccel conns 

D. netstat -ni 

Correct Answer: C 

 

QUESTION 2

You are a system administrator and would like to configure Geo Protection on your gateway to comply with a new
corporate policy. What must you have to do this? 

A. Valid IPS contract and software blade licensing 

B. DNS resolution on the gateway 

C. Geo Protection is enabled by default 

D. The latest IPS update 
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Correct Answer: A 

 

QUESTION 3

ACME Corp has a cluster consisting of two 13500 appliances. As the Firewall Administrator, you notice that on an
output of top, you are seeing high CPU usage of the cores assigned as SNDs, but low CPU usage on cores assigned to
individual fw_worker_X processes. What command should you run next to performance tune your cluster? 

A. fw ctl debug m cluster + all this will show you all the connections being processed by ClusterXL and explain the high
CPU usage on your appliance. 

B. fwaccel off this will turn off SecureXL, which is causing your SNDs to be running high in the first place. 

C. fwaccel stats s this will show you the acceleration profile of your connections and potentially why your SNDs are
running high while other cores are running low. 

D. fw tab t connections s this will show you a summary of your connections table, and allow you to determine whether
there is too much traffic traversing your firewall. 

Correct Answer: C 

 

QUESTION 4

PXL is considered to be what type of acceleration? 

A. Fast Path 

B. Slow Path 

C. Medium Path 

D. PXL is not related to acceleration 

Correct Answer: C 

 

QUESTION 5

You are troubleshooting a Security Gateway, attempting to determine which chain is causing a problem. What command
would you use to show all the chains through which traffic passed? 

A. [Expert@HostName]# fw ctl chain 

B. [Expert@HostName]# fw monitor -e "accept;" -p all 

C. [Expert@HostName]# fw ctl debug m 

D. [Expert@HostName]# fw ctl zdebug all 

Correct Answer: B 
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